Attention

Maytag, Magic Chef, Amana

RV Customers

To order Replacement Parts

Maytag Customer Service
535 Exchange Court
Aurora, IL 60504

Toll Free #..........1 - 877 800 6390

Fax# ..ccceevvvieeee. 1-630 236 5380
Direct # ............ 1-6302365374

To Receive Warranty Labor

Maytag Customer Service
Warranty Department
P. O. Box 4970
Cleveland TN 37320-4970

For Help with Product Usage, Installation or Warranty

Information, please call

1-800 - 544 - 5513






Model Number:

CLY1620BDB

BOM/Serial #: CLY1620BDB
Graphic Title: TOP & GAS CONTROLS

Image Key
1 1

1 1
1 2
1 2
1 2
1 3

1 3

1 4
1 5
1 6

1 7
1 7
1 8
1 9
1 10
1 11
1 13
1 14
1 14
1 14
1 14
1 14
1 15
1 16
1 16
1 17
1 17
1 18
1 19
1 19
1 20
1 20
1 21
1 22
1 22

Part Number

74004288

74009853
7101P356-60
74004583
74004584
7101P356-60
74004582
8007P020-60
74007277
74004234
74003942
74003941
74009858
74009852
74009856
74004235
8003P008-60
74009857
7507P049-60
74009854
74009855
74009850
74003323
1555279
74009864
12002245
12002246
74009848
7432P077-60
7104P002-60
74003327
74003326
7112P068-60
74002413
5111A719-60

Description Substitution

SCREW (BABX3/8-SN)
BURNER, OVEN (W/SHUTTER)

SCREW 7101P126-60
BURNER, TOP (RR.)

BURNER, TOP (L.R.)

SCREW 7101P126-60
BURNER, TOP (FRT)

GROMMET

GRATE (BLK)

FITTING, HALF UNION

KNOB, BURNER (BLK)

KNOB, BURNER (BLK)

KNOB, THERMOSTAT (BLK)

BURNER, PILOT RV

PIPE, MANIFOLD

REGULATOR. PRESSURE 12001285
BUMPER

SCREW, THERMOSTAT

FLANGE, T STAT

TUBING 3/16

THERMOSTAT

TUBING 1/4

TOP, MAIN (BLK) 74007287
NUT, 1/4" LOXIT

ELBOW BLOCK ASSY.

KIT, VALVE & SCREW (MUELLER)

KIT, VALVE & SCREW (MUELLER)

BAFFLE, RV BURNER

IGNITER, TOP

FASTENER, PUSH RING RV

EXTENSION, FLASHTUBE (FRT)

EXTENSION, FLASHTUBE (REAR)

cLIP

IGNITER

WIRE, IGNITER

Page 1of 2

Copyright © 2002 Maytag, Inc. All Rights Reserved.

Qty



Key

23
24
24
25
26
27

Part Number
74003944
7101P356-60
3807F462-45
74003325

3604F211-45
7103P030-60

Description Substitution Qty.
KNOB, IGNI{ER(BLK) . o 1
SCREW 7101P126-60 2
SUPPORT, TOP BURNER 1
CUP/TUBE ASSY. 1
SHIELD 1
NUT, WING 1
Page 2 0f 2

Copyright © 2002 Maytag, Inc. All Rights Reserved.






Model Number: CLY1620BDB
BOM/Serial #: CLY1620BDB
Graphic Title: OVEN

Image Key Part Number Description Substitution Qty.
1 1 74003998 CLIP, MAINTOP ) 2
1 2 7112P065-60 CLIP, OVEN BOTTOM 2
1 2 7101P124-60 SCREW W/WASHER (CHR) 74003976 2
1 2 2205F016-19 BOTTOM, OVEN 1
1 3 4006W075-80 FLUE BOX ASSY 1
1 3 7101P124-60 SCREW W/WASHER (CHR) 74003976 3
1 4 7112P004-60 CLIP, THERMOSTAT 1
1 5 7101P356-60 SCREW 7101P126-60 2
1 5 74001747 SCREW 2
1 5 74009862 BACK, MAIN 1
1 5 74009861 INSULATION 1
1 6 7103P109-60 T-NUT (RV HINGE) 4
1 6 7101P301-60 SCREW #6 X 1/2 4
1 6 7103P082-60 NUT M0282007 4
1 6 74002812 TRIM, SIDE (BLK) (RT) 1
1 6 74002813 TRIM, SIDE (BLK) (LT) 1
1 7 7803P051-60 SPRING, OVEN DOOR 2
1 8 74009863 BOTTOM, BURNER BOX 1
1 9 7101P301-60 SCREW #6 X 1/2 2
1 9 7103P109-60 T-NUT (RV HINGE) 2
1 10 74003342 BOTTOM, MAIN 1
1 10 7101P356-60 SCREW 7101P126-60 2
1 11 74007296 PANEL, MANIFOLD (BLK) 1
1 12 74003976 SCREW, SHOULDER 3
1 12 74002809 SHIELD, DEFLECTOR FLUE (BLK) 1
1 13 74005020 SIDE, BODY (RT) 1
1 14 74005021 SIDE, BODY (LT) 1
1 15 74003106 RACK, OVEN 1

Page

1 of 1

Copyright © 2002 Maytag, Inc. All Rights Reserved.






Model Number:

CLY1620BDB

BOM/Serial #: CLY1620BDB
Graphic Title: DOOR

Image

1
1
1

Key

W O N O O s W N

a a
& O

Part Number

2401F126-70

74003929
74002059
74004069
12400029
12400028
74004227
3423F001-34
7212P014-60
7212P038-60
7101P124-60
74001092

Description

PANEL, DOOVR (BLk)
HANDLE. DOOR (BLK)
SCREW

SCREW (#10 X 3/4")
HINGE KIT (RT)
HINGE KIT (LT)
LINING, DOOR

ARM, SPRING

SEAL, DOOR (TOP)
SEAL, DOOR (SIDES)
SCREW W/WASHER (CHR)
INSULATION, DOOR

Page

1 of 1

Substitution Qty.
1
1
2
2
1
1
1
2
1
2

74003976 4

Copyright © 2002 Maytag, Inc. All Rights Reserved.



